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Signal Simulation

Gate time : 150 ns.
Detector position : 10 m
Gate time &0, Z2 bar detector L{O| Al Bt=O{ Xl signal 2| 7H=7t 27{| O] At
o= FESH7| fIsHM=
v I signal 2| hitTime t; ZtZ10| 30 ns 0| 40| 7L},
> tg : bar detector &Z 0| A S EL|= signal detection time 9| HA 4}
v & signals 2| §|X|7} 30, O| &
> o5 ?IXZols. 2HE f 6 cm
O] OfOf L.
k2t A, simulation | A= O] F#&I0f 2} signal =2 generate S QLY.

Signal 2| 21%]|
> X-axis Btako 2 M A E| bar detector L0 5 2= signal 2| 42,
v’ X-axis & 29| #|X|= signal 2 #°d5t= hit & & Al[ZHY 7t HAY HA4T hit 2
QX Els= EFEHKXIE 7FX|= Gaussian random 20| L2} X| A SILC}.
v’ y-axis & z-axis H2FO| 2| X|= bar detector o| 2| X[} ZLCt11 2L}
> Y-axis BteFo 2 HHE| bar detector L0 E0{2 = signal o] 42 &= &
K| SEE HE oot

m

rlo

ol AlH
=

(| =



Average At = (Signal hitTime) - (15t hitTime)

* Gap between the stacks : 40 cm

Neutron energy : 140 MeV Neutron energy : 300 MeV
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Separation Efficiency Using Signal Simulation
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Separation Efficiency Using Signal Simulation
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Separation efficiency (%)

Separation Efficiency Using Signal Simulation

« Separation Efficiency (for two incident neutrons case)
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Two Neutron Efficiency Using Signal Simulation

K/
0’0

= 71e] =MXI7} S A0 detector system

2 ENSIYH 2 [, detector system 0] 2742] =AM X7 E
1}5lQICH= DTS SHI2 A LHE SHE
vV (5 38R ESE EA Q] signal 2 THEOIH =E) = 9449 %
v (R =450 signal 2 221 SAXte| =7t 2712tn TEtet =HE) = 2F 20 %
vV (%l F Z2UZ EF TE}MEZ M, 24Ol signal 22 SHIEA 25 =HE) = YAISE &£ 54
X} 7+0| {2[7F 40 cm O[AFQ! [ A O 2 OF 80 %

ot S5HH, detector system
282 el 2EY 4

Sket7| Tol £ FMX 7k
= T

= 2|7} 40 cm O|AHQ1 AL, 2F 8 % 9|
QUL



Neutron Energy Reconstruction with E = 240, 260, 280, 300 MeV

Neutron kinetic energy = E — E, = (y — 1)M,, (M,, = 939.5656 MeV/cZ, c=1)
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Neutron Energy Reconstruction with E = 160, 180, 200, 220 MeV

Neutron kinetic energy = E — E, = (y — 1)M,, (M,, = 939.5656 MeV/cZ, c=1)
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Next Step
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E = 160, 180, 200, 220, 240, 260, 280, 300 MeV
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